iHﬁ%/\%t Uas

B A

BEEEEN AR EZIVTFAHNEREEMEBERRFAEINE

1~ BEEIAEN - ARBASSHIS?

9~ MBERHWEAN > REE (e

s WEMTEE I REE ?
E = % # |8 7tk
= A (HEEN) 8 26.67%
& 15 50.00%
= A 6 20.00%
L AN (BB 0.00%
(RN 1 3.33%
4 Bl 0.00%
b [5] #2255 0.00%
ENE = A ll 0.00%
& et 8 30 100.00%
2~ FRIHREE - BEE KB
& = | 52
IR 0.00%
TER 0.00%
B 0.00%
HH AL 0.00%
TR 2 6.67%
e 1 3.33%
R 3 10.00%
B 0.00%
S 0.00%
b 0.00%
B 0.00%
FERY 0.00%
e 0.00%
TR 0.00%
ks 0.00%
L 1 3.33%
R 2 6.67%
IR 0.00%
Draiid 0.00%
By 0.00%
vaif: 1 3.33%
MRS 2 6.67%
2R 1 3.33%
B 2 6.67%
Hi 1 3.33%
SR 1 3.33%
prel: 0.00%
R 0.00%
TR 3 10.00%
FERE 0.00%
SRS 1 3.33%
TR 0.00%
TR 0.00%
HIRsE 1 3.33%
=R 0.00%
B 1 3.33%
sy 0.00%
At 1 3.33%
FF 1 3.33%
[is]; s 2 6.67%
P 1 3.33%
ZH 0.00%
i 0.00%
ELRL 0.00%
piire 1 3.33%
Elike 1 3.33%
Gt HE 30 100.00%

= Z= 7 H 47 Bb EREHERES AT ERERK
FoamsE | 2 | 9saew| [VRRMERZE?
Sl S PNGIE 2 6.67% x = 8 H 77tk
NEC=WNGIE-! 0.00% JEE T 0.00%
hFET 0.00% BFST 14 46.67%
aEt B 30 100.00% S 12 40.00%
Ry 0.00%
2 ~ SR R R T R A (A FE AR RE AT 2 JEEAR TSy 0.00%
G TR EEE k=R 4 13.33%
IEFE 4T 0.00% & Bt 30 100.00%
R’ 18 60.00%
o 11| 3667% 10 - MBELRHE » RETIRES
K 47 0.00% BE)REMERTESE R EaE
JEBRGE 0.00% Frilgesa Bk L EAHIRER] ?
FFER 1 3.33% & E gy ERass
S C 30 100.00% JEFE TSy 0.00%
R 12 40.00%
3 BEEMEEFE)RSHERHRE ? i 9 30.00%
BE g | 5 %) 0.00%
HEREFERE 9 30.00% JEHER Ty 0.00%
BIE1053 8 DA 19 63.33% RFELR 9 30.00%
BEIE102 3047 5 0.00% & Bt 30 100.00%
3045604744 0.00%
B0 8L 0.00%
* F R 2 6.67% 11~ FECHAEAABERER
GRS 30 | 100.00% B?
E K 8 H 4tk
5 TR RREE(REBHE)NHEE IEEHE 1 3.33%
REE0fal ? S 19 63.33%
E E g Btk SN 5 16.67%
JEELT 2 6.67% g 0.00%
R 4 13 43.33% JEERHE 0.00%
] 14 46.67% % =0 5 16.67%
K 4r ST 30 100.00%
JEEARLF
*FoR 1 3.33% 12 ~ FRTHABNREERRES
PEC 30 | 100.00% R 7
EOE g B4
@g w.ﬁ%ﬁ EEDH(%‘ %ﬁf\;ﬁ% E) MER FEERE 1 3.33%
= V=Y 20 66.67%
& E 8 " SN 4 13.33%
JEEIIE 0.00% NE 0.00%
o OHE 13 43.33% EERWE 0.00%
R 12 40.00% % =0 5 16.67%
N7t ST 30 100.00%
FEE AR
* TR 5 16.67% 13~ %F%%Z&%ﬁlﬁ&i’%ﬁ%&?
& 5 8 30 100.00% EREWE
& E TGS H otk
7~ BREE(REBEE)H:NE)ER JEHE R 0.00%
HEAELERT? S 21 70.00%
g E Gy =) e 3 10.00%
HEfEsks 16 53.33% BN 0.00%
BUEE S JEERWE 0.00%
. 0.00% —
HWE S5 * TR 6 20.00%
ST 0.00% =l 30 100.00%
KA 2 6.67%
* TR 12 40.00% 14 - FREEEAE B TR EN
& 5 8 30 100.00% BHEY - FEEEEWE ?
T E TGS H otk
8 BEE (ﬁjf%i’%a ) & GG JEE R 0.00%
Egiéggmfgﬁﬁﬁﬁéﬁi ;‘ﬁi 12 40.00%
g e 5 16.67%
E K | B A 0.00%
JEE TSy 0.00% IEERWE 0.00%
R7E5 9 30.00% RFEMT 13 43.33%
S 12 40.00% e 30 100.00%
KFT 0.00%
FEEAR I 0.00% 15~ 1074E4 B B R £ 4304 -
AR RN 9 30.00% 16 - AF EEANHAMEREROM -
et 30 100.00%




